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Now you try it!

(1) happy dog NP

AP

A◦

happy

NP

N◦

dog

PM : 〈e, t〉
λa ∈ De. happy(a) = 1 & dog(a) = 1

λa ∈ De. [λx ∈ De. happy(x)](a) = 1 & [λx ∈ De. dog(x)](a) = 1

NN : 〈e, t〉
λx ∈ De. happy(x)

TN : 〈e, t〉
λx ∈ De. happy(x)

NN : 〈e, t〉
λx ∈ De. dog(x)

TN : 〈e, t〉
λx ∈ De. dog(x)

Now, plug your NP into a DP.

(2) the happy dog
DP

D◦

the
NP

AP

A◦

happy

NP

N◦

dog

FA : e
ιx ∈ Ce[ happy(x) = 1 & dog(x) = 1 ]

ιx ∈ Ce[ [λa ∈ De. happy(a) = 1 & dog(a) = 1](x) ]

TN : 〈〈e, t〉, e〉
λf ∈ D〈e, t〉. ιx ∈ Ce[ f(x) ]

PM : 〈e, t〉
λa ∈ De. happy(a) = 1 & dog(a) = 1

λa ∈ De. [λx ∈ De. happy(x)](a) = 1 & [λx ∈ De. dog(x)](a) = 1

NN : 〈e, t〉
λx ∈ De. happy(x)

TN : 〈e, t〉
λx ∈ De. happy(x)

NN : 〈e, t〉
λx ∈ De. dog(x)

TN : 〈e, t〉
λx ∈ De. dog(x)

Try a few more NPs
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(3) persnickety neighbor NP

AP

A◦

persnickety

NP

N◦

neighbor

PM : 〈e, t〉
λa ∈ De. persnickety(a) = 1 & neighbor(a) = 1

λa ∈ De. [λx ∈ De. persnickety(x)](a) = 1 & [λx ∈ De. neighbor(x)](a) = 1

NN : 〈e, t〉
λx ∈ De. persnickety(x)

TN : 〈e, t〉
λx ∈ De. persnickety(x)

NN : 〈e, t〉
λx ∈ De. neighbor(x)

TN : 〈e, t〉
λx ∈ De. neighbor(x)

(4) enormous victory NP

AP

A◦

enormous

NP

N◦

victory

PM : 〈e, t〉
λa ∈ De. enormous(a) = 1 & victory(a) = 1

λa ∈ De. [λx ∈ De. enormous(x)](a) = 1 & [λx ∈ De. victory(x)](a) = 1

NN : 〈e, t〉
λx ∈ De. enormous(x)

TN : 〈e, t〉
λx ∈ De. enormous(x)

NN : 〈e, t〉
λx ∈ De. victory(x)

TN : 〈e, t〉
λx ∈ De. victory(x)

(5) trifling matter NP

AP

A◦

trifling

NP

N◦

matter

PM : 〈e, t〉
λa ∈ De. trifling(a) = 1 & matter(a) = 1

λa ∈ De. [λx ∈ De. trifling(x)](a) = 1 & [λx ∈ De. matter(x)](a) = 1

NN : 〈e, t〉
λx ∈ De. trifling(x)

TN : 〈e, t〉
λx ∈ De. trifling(x)

NN : 〈e, t〉
λx ∈ De. matter(x)

TN : 〈e, t〉
λx ∈ De. matter(x)

(6) big, dumb ox
NP

AP

A◦

big

NP

AP

A◦

dumb

NP

N◦

ox

λa ∈ De. big(a) = 1 & [ dumb(a) = 1 & ox(a) = 1 ] = 1
λa ∈ De. [λx ∈ De. big(x)](a) = 1 & [λa ∈ De. dumb(a) = 1 & ox(a) = 1](a) = 1

NN : 〈e, t〉
λx ∈ De. big(x)

TN : 〈e, t〉
λx ∈ De. big(x)

PM : 〈e, t〉
λa ∈ De. dumb(a) = 1 & ox(a) = 1

λa ∈ De. [λx ∈ De. dumb(x)](a) = 1 & [λx ∈ De. ox(x)](a) = 1

NN : 〈e, t〉
λx ∈ De. dumb(x)

TN : 〈e, t〉
λx ∈ De. dumb(x)

NN : 〈e, t〉
λx ∈ De. ox(x)

TN : 〈e, t〉
λx ∈ De. ox(x)
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